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Analysis of Conflict between Pedestrian and Car at Zebra Crossing
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This study is one of the researches toward making an index of hazard at zebra crossing. In the first place,
| defined the hazard between pedestrian and car at zebra crossing as ‘ Conflict’. Then | studied the relation
between ‘Conflict’ and ‘The number of pedestrian and Left-turn car, The density of pedestrian’. In
consequence, | recognized that ‘The density of pedestrian’ has a strong effect on the probability of
occurrence of ‘Conflict’, in other words, ‘The density of pedestrian’ influences the hazard at zebra
crossing. The other hand, | recognized the rough tendency between ‘Conflict’ and ‘The number of

pedestrian and L eft-turn car’.
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